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1. EfReceheHIRETFIERRSE 8K 10g ©£K 20g SRIFEEEZT
#Y Entropy MSIIME » SESRAYIFEIHIE 197 K 107.88 © (25%)

2. A —HEERENERINEEL 0 B Entropy $TESTATEM LEE RASREERL
REE - (25%)

3. THRERFTEEBNAEERS: (1) AE=1E 1000k £{LE CO; (2) SEHATE 1000K
EfEAL CO - (25%)
C (diamond), Cp =9.12 + 13.2 x 103 T—6.19 x 10°T-2 J/K-mole
C (graphite), Cp = 17.2 + 4.27 x 103 T — 8.79 x 105T2 J/K-mole
AH%289, diamond = 1900 J
AH%289, graphite = 0

4. FEHNEEFEEE 15°C » EEBNIMNIEEERIERER S - TTRESILE
BURERH T RURLLENS - KRR BURIEFREEEL - (25%)
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